VIDEO MOUNT PRODUCTS

Instruction Sheet For:

LCD-2 & LCD-2B

For more information, please contact us at:
325 Log Canoe Circle, Stevensville, Maryland 21666
(T) 410.643.6390 / (F) 410.643.6615

www.videomount.com



Step 2: Through bolting the mount
bracket

Step 3: Connecting the base seat
to the mounting bracket

Step 4: Clamping the mounting
bracket to the desk

Step1

Before starting, lay out dll parts to your mount and match them to
the parts list prbvided. Verify that you have dll your parts before at-
tempting to assemble the mount.

Through bolting the LCD-2

Step 2
Mark the desk or desired mounting surface in preparation of installa-
fion of the mounting bracket @ . Drilt a 2" hole through the desired
mounting surface. Place a plastic washer @ on either side of the
drilled hole and place metal washers @l‘on fop of the plastic washers
@. Insert the M10 screw through the bottom most metal washer
@’rhrough to the top most metal washer. Place the mounting bracket
@ onto the M10 screw and use nylon nut @ and washer ‘ fo
secure in place. Warning: Please verify that your mounting surface will
support the combined weight of your mount, mounting hardware, and
monitor. Also verify that the mounting surface is safe to drill through. If
in doubt, please contact a professional installer.

Proceed to step 5.

Clamping the LCD-2

Step 3

Make sure the flat head screw @ is connecting the: mounting
bracket @ to the base seat @ with a plastic washer (7)-in be-
tween. Use the nylon nut @ond Wosher’ro secure the mount-
ing bracket @ . Note: The mount may come assembled with the
button cap M10 screw aftaching the base seat please make
sure fo aftach the flat head screw instead.

Step 4

Place the clamp on the edge of the desk or mounting surface and
turn the adjustable bolt @ until the fixed plate on the adjustable
bolt @ is fight against the bottom of the desk or desired mounting
surface. Warning: Please verify that your mounting surface will sup-
port the combined weight of your mouni, mounting hardware, and
monitor. If in doublt, please contact a professional installer.

VIDEO MOUNT PRODUCTS



Step 5: Attaching the VESA 100
plate to the monitor

Step 6: Attaching the VESA
100 plate or monitor to the

mounting bracket

Step 5 _

Determine if whether your monitor has a VESA 100 or VESA 75 hole
pattern. If the monitor has a VESA 75 hole pattern skip this step. At-
tach the VESA 100 plate to the back of your monitor using the M4 or
M5 screws @ or @ as appropriate for your monitor.

Step 6

Attach either the VESA 100 plate or your monitor to the VESA 75
holes using the 6mm long M4 screws if you are attaching the VESA
100 plate or the 12mm long M4 or M5 screws @or @ if you are
attaching the monitor directly.

Step 7

Please verify that all nuts and screws are tight.

T1L
h\

Enjoy Your Mount!

WARNING: The installer of these products must verify that the mount-
ing surface, ceiling or wall, will safely support the combined weight
of all attached equipment and hardware. Video Mount roducts will
not be held liable for the improper use or installation of its products.



SA1ONAoYd LNNOW O3aIN

CIXON MHIDS SSOAD | OF
CIXPIN MHIDS SSO¥D | 6¢
JIHSYM TVIEN | 8¢
OW AHINATIV | L€
0SXS'TdXOTIN MHADS NHTTV | S¢
OXYIN MHIOS SSOYD | ¢
HLVId ONIINNOW | €€
STLX6T0XS 8D YHHSYVM DLLSVId | 7€
HONHIM | 1€
CIXSIN MHIOS SSO¥D | 0¢
LOINNOD DAd | 62
HANL | 8
HANL YHOVIS THHIS | LT
SOLXOTOXT SO YHHSYM JLLSVId | 9¢
9TX8N MHIODS HOVIIAYD | ST
S JHFHSYVM ONIIAS | #C
9 TLX9TDX8D YHHSVM | €T
LLLXSN LONNOTAN | 7¢
0"CLX08DX0TD YIHSYVM | 1T
STIXOTIN LON NOTAN | 0¢
0TLX9ZOX0TD YHIHSYM | 61
dIAISLINY | 8T
ONIAS HAOISAHN | dL1
ONINAS NOLLVAHTH | VLI
LON IOFINNOD | 91
S8YXSTTIX8IN MHIOS | €1
LTOE NIFHIL THTIVIVd | ¥1
0eXOTIN MTIDS NHTTV | €1
JHHSYM ONINAS | 71
JAVd TTIEVLSNAy | 11
HLYTd SSHId | 01
103001 GWIE) 53]
JLY0ddNS HATOAHY
TIOISATA
HIOHS HATOATY HAISLNO
. HJOHS HATOAHY HAISNI
NIFHILL THTIVEVd
AVHH NINL LHOTI ANV T497
NI-HLL NOLLVAHTH
HLVTd QHXTd

"ALO HAVYNN LIVd WAL

kK k N-D \(.vu_ skokK

o

EEEEE O

%ﬁmmvm\oz\oocm




